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NOTE: PASSIVE DISTURBANCE
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NOTE: PASSIVE DISTURBANCE
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NOTE: UNABLE TO FLEXI

NOTE: VENT

NOTE: VENT

NOTE: VENT

NOTE: UTT CUT
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NOTE: PASSIVE DISTURBANCE
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NOTE: NO SIGN OF BT DUCT IN CHAMBER

NOTE: NO FURTHER INFORMATION ON LOCATION OF WATER PAST THIS POINT
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Combined Service Drainage Route B3
CS > (B3)

Combined Service Drainage Route B4
CS > (B4)

Foul Water Drainage Route QLD FS>(QL-D)

Foul Water Drainage Route B1 FS > (B1)

Foul Water Drainage Route B2 FS > (B2)

Foul Water Drainage Route B3 FS > (B3)

Foul Water Drainage Route B4 FS > (B4)

SWS > (QL-D)
Surface Water Drainage Route QLD

SWS > (B1)
Surface Water Drainage Route B1

SWS > (B2)
Surface Water Drainage Route B2

SWS > (B3)
Surface Water Drainage Route B3

SWS > (B4)
Surface Water Drainage Route B3

High Voltage Electricity Cable QLDHV (QL-D)

High Voltage Electricity Cable B1HV (B1)

High Voltage Electricity Cable B2HV (B2)

High Voltage Electricity Cable B3HV (B3)

High Voltage Electricity Cable B4HV (B4)

Ground Pen Radar B1GPR (B1)

Ground Pen Radar B2GPR (B2)

Ground Pen Radar B3GPR (B3)

UNK (B1) Unknown Route B1
UNK (B2) Unknown Route B2
UNK (B3) Unknown Route B3
UNK (B4) Unknown Route B4

Combined Service Drainage Route QLD
CS > (QL-D)

BT (QL-D)

British Telecom QL-D
BT (B1)

British Telecom B1
BT (B2)

BT (B3)

BT (B4)

British Telecom B2
British Telecom B3
British Telecom B4

E (QL-D) Electric QL-D
E (B1) Electric B1

Electric B2E (B2)

Electric B3E (B3)

Electric B4E (B4)

G (B4)

CATV (QL-D) Cable TV QL-D
CATV (B1) Cable TV B1
CATV (B2) Cable TV B2
CATV (B3) Cable TV B3
CATV (B4) Cable TV B4

EDU (QL-D)

Empty Ducting QL-D
EDU (B1)

Empty Ducting B1
EDU (B2)

Empty Ducting B2
EDU (B3)

Empty Ducting B3
EDU (B4)

Empty Ducting B4

Aldi Egremont

Wyndham Place

CA22 2EB

Pas128 Underground 

Utility Survey

1:500 @ A1

20/09/2022

LH

MD

CKS - 1240
002

A

A         - Additional survey area added.                          KH/WH            MD
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